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 PART ‘A’  

 
 cfdVRacl FfOFl  Marks:10 

01 klacl FfOFlnQ vPb rfnl hDaf klg : 5×1=5 

 nP tlU cRzRO vfaQ sVl gfOzM dVRnzcP Hldpnf  DD r cfvPclMPa gP Trpsp blzQOacl dpnf  DD 
rtl vlcl zRkPUn cftf kfOnRU gfOzMg  klblacl dpnf  DD  r gfOzjfnP kQMp of xVgfOz krfM 
ofUa zQO cfnfdpnf DD  iSagM sVltlofO zR  rRxpcl vlgP  dpacl tRcl dpcl slOclMPal xVgfOz 
xRclDD rnQ tR slOaf tR cfslOaf tcl DD r inlg Tsfcl - dfcl tMlcl DD inl Tdfcl ofUg  
r sVl slsPz kznM xROcl DD rM rtl yPaf  yPaf slsPqpg dVRcl DD slsPqpg dVRclMPal r
 mzlM tcl DD rtl rnQ  slsPqpg alclMPal  mRzPn cfvfO rm rtl slsPzdlUnQ r tR  hf
? alclMPal Tmpcl DD dVRnzcPcl tfO ylclMPal slsPzdlU mzlM tcl DD rtl rlolcl DD rp vQf
af TrpspnMf dVRnzcP of DD vfatl slsPqpgzRcp cfmRzPa DD rSuf rlolcl slsPztlUtl r 
dVRnzcPnQ TrpspnMf agIbla zQObp ncl  DD  rm rtl  alcl rpd tRcl LpO of DD rpjfnP  t
d? rpcl zxlO dnl mRhR hf? mgP dpcl kVf dgP dp DD rm slsPzdlUtl mlTzpclg alcl- rpcl
 zxlO dpcl kVfg of  DD dVRnzcPtl slsPqpg slclOMPal gfOzol eRcl rfnl wlO  LPcptRtg  
slsPqpg yRcl rcl kInp MpOcl DD 

 

i dVRnzcPhl vlcl zRkPUncl cftf kfOnRU vgl klblacl dpnf?  
s) xVgfOzMl klblacl dpnf DD  
v)cfTxfpnM klblacl dpnf DD  
u) stfzpM klblacl dpnf DD  
q) gfOzM klblacl dpnf DD 

01 

ii slsPz kznM dVRnzcPhl vQa vQa slsPqpg dVRcl?  
s) yPaf yPaf slsPqpg dVRcl DD  
v) TifOa TifOa slsPqpg dVRcl DD  
u) nlOaf nlOaf slsPqpg dVRcl DD  
q) TrRa TrRa slsPqpg dVRcl DD 

01 

iii dVRnzcPhl slsPqpgzRcp cfmRzPacl tzlhhl slsPzdlUhl rnQ tR agIbla zQObp ncl?  
s) nPOUxl agIbla zQObp ncl DD  
v) TrpspnMf agIbla zQObp ncl DD  
u) TifOa dlU agIbla zQObp ncl DD  
q) cTifOa dlU agIbla zQObp ncl DD 

01 

General instructions:  

 There are two parts in this question paper, Part ‘A’ & Part ‘B’. 

 Objective questions are asked in Part ‘A’. 

 Descriptive questions are asked in Part ‘B’. 



iv dVRnzcPclM dpcl mRhR dgP dpnf?  
s) dpcl Trp dgP dpnf DD  
v) dpcl mfTrp dgP dpnf DD  
u) dpcl kVf dgP dpnfDD  
q) dpcl kVPTrp dgP dpnf DD 

01 

v lwlO LPcptRtg dVRnzcPhl  slsPqpgnQ tR ncl?  
s) yRcl rlcl kInp rcl DD  
v) yRcl rcl kInp MpOcl DD  
u) yRcl rcl kInp jfcl DD  
q) yRcl rcl kInp yPcl DD 

01 

02 klacl FfOFlnQ vPb rfnl hDaf klg:- 5×1=5 

 sVl opUnM sVl ipa vPafwlO dpnf DD r vPafwlOM vPaf dopO sRnRdcP gRUMl sVl dopO sRnR  
hDnInf dpnf DD cfta TmpgdcP nclMP rtl nRkfdlUdcPnQ xfclMg ndpnf DD dpOnQ tRtl
yfcptlcldp?tRcltl gl cfyfcptlcl dp alTzP opUqlgM tnP wpOcpnl cftlof?dlUcl TrROkhP
 tldl of alcp tPMPcl dlUcl gl tldln tfg dpxl gP dP tnP cfMP? iSag TmpgdcP nclMP
r nRkfdlUdcPnQ xfclMg ndpnf DD dopOsRncl dl dpnf -sMg DDsVl tlO vPa nRblMla
cl kPUnpM sMgtl Tmpcl -nRkfdlU tfg egIgf eRhleRgl vfa hf? mlgf Tzfd oROa zpMMl 
nRkfdlUtl alcl - tfgegIgf eRhleRgl kzpktlgfy of DD td tfcl alclgf sMg bPclg 
bPclg kzpktlgfy mfM LPcl gP rtl Tmpcl-tfgegIgf eRhleRgl sl MR DDrp tfO sVRg jf?
m eRgleRgl alclMPal slnQ vfatl alnf sMgtl alcl mcl nRkfdlUtl alnfDDtfO dl mlag
 of sMg dfap DDkzpOktlgfytl alcl -tP m egIgf gl eRhleRgl cfupg dR r of ylOUkVlzpM
DDylO kVlzpMtl rp opUqlgnQ dldVRa kfMIbldDDcfsRclcP ofUclMPal ylOU kVlzpMnQTmpbDD 

 

i vPaf dopO sRnRdcP gRUMl sVl dopO sRnR vQkf dpnf? 
s) nPOUxl dpnf DD 
v) MTifOa dpnf DD 
u) hDnInf dpnf DD 
q) apMIv dpnf DD 

01 

ii dopO sRncl dl tR dpnf? 
s) uug dpnf DD 
v) Mfxpn dpnf  DD 
u) wlMPg dpnf DD 
q) sMg dpnf DD 

01 

iii tfgegIgf eRhleRg vfa hf alclmPal sMgtl cROzRO vfanQ Tmpcl? 
s) kzpktlgfynQ 
v)ylOU kVlzpMnQ 
u) nRkfdlUnQ 
q)TvPOnQ 

01 

  



iv sMgnQ m egIgf gl eRhleRgl ylOU kVlzpM of vfatl alnf? 
s) nRkfdlUtl 
v) kzpktlgfytl 
u)ylOU kVlzpMtl 
q)TvPOtl  

01 

v dopO sRnRtl vQa vfnPcl TmpgdcP ndpnf ? 
s) ta TmpgdcP  
v) cfta TmpgdcP  
u) ufM TmpgdcP  
q) zhln TmpgdcP 

01 

 tdp ofUMsIUopcl 
 

10 

03 hDaf klg DD 5×1=5 

i sVtl vlcl mlhlM vlgtl alacl zQOy sRaf tfOhnQ .....................ald DD 
s) sInP tPOaQ tfO rPdl DD 
v) TmpaQ tfO rPdl DD 
u) sVRzPgaQ tfO rPdl DD 
q) mPTrfaQ tfO rPdlDD 

01 

ii vcPdInf tfO rPdlnQ ofUMIsIUopclM tR gl ald DD 
s) oROU 
v) kfMIs 
u) dopOp  
q) kn 

01 

iii TspTspOcl dPtRnQ tR ald? 
s) LPnIa ald 
v) oRUsR ald 
u) kfMIs ald 
q) Ml TspTspO 

01 

iv "frcl " alatl ...................kn sRd DD 
s) zfbf dInR kn 
v) zfbf zRO kn 
u) zfbf nl kn 
q) dInR kn 

01 

v dlUn tROa, tp-gp , TmfTmp , iPMIaf, vRd, dnd, mlxla hRuR zQOy sRaf sVlgIHlnQ tR  
sVlgIHl ald? 
s) Llm sVlgIHl  
v) zQgInP sVlgIHl 
u) tPrfO sVlgIHl  
q) tljQ sVlgIHl  

01 



04 hDaf klg DD 5×1=5 

i rpUcpa kfMIstl tR sRald ? 
s) kfMIscl znldfOMt sRald DD 
v) kfMIskttl vfaQ alacl zQOy tMf tacl sRald DD 
u) TLRnd, jlzpd, alkcl tfO , Tmpg gP cRml hRuR sRald DD 
q) vfaQ EsRefa, zmIsf, vcPaQ alaf tfO sRald DD 

01 

ii 'sVl nlHM mP' rpM 'sVl nlHM' tfOhtl ........... 
s) dlcl tPtfcp cfmlalTzP vpzQxl sRacl dpp, itzl rp tfOh nPU LPnIaQ tPOa oROU tcl DD 
v) dl gPm rPdlcl kfgzl sRacl dp, itzl rp tfOh kfgzl tPOa oROU tcl DD 
u) rPdlnQ oROU agIblMPal rzlt nacl dp, itzl rp tUhl tPOa oROU tcl DD 
q) cgIbp cfmlalTzP mlta TiROnP cfLlacl tPtfcp sRacldp, itzl rp tfOh cgIbp nPU 
      LPnIaQ tPOa oROU tcl DD 

01 

iii tPrfO sVlgHltl tR sRald? 
s) kfMIscl cgIbp tPtfcp gPm tPTrRa sRald DD 
v) ml gPm mlegIgf nP tfOh cfmlalTzP altfOnQ rpMIbla sVlgIHl sRald DD 
u) dl gPm rPdlnQ cfup ktcl mPTrfOa sRald DD 
q) tfOh gPm altfOnQ ipHItla sVlgIHl sRald DD 

01 

iv cgIbp TrRa tPOa oROUtl tR sRald? 
s) dl cfmlalTzP rPdlcl tPTrROa sRald DD 
v) dl cfmlalTzP rPdlcl clgIbp tPTrROa sRald DD 
u) clgIbp cfmlalTzP mlta TiROnP cfLlacl tPtfcp sRald DD 
q) dlcl tPtfcp cfmlalTzP vpzQxl sRald DD 

01 

v "ofUnf" alatl tnl rpUaQ zR kn sRd? 
s) "ofUnf" alatl vfaQ TsP tROtcl tMf tacl kfMIscl kn sRd, itzl rp tfOh rpUaQ
      zR kn tcl DD 
v) " ofUnf" alatl vfaQ TsP nlcljfnP taf gPm vacl blgdcPM taf alaf sRd,  
      itzl rp tfOh rpUaQ zR kn tcl DD 
u) " ofUnf " alatl vfaQ TsP tclMPal tMf cftacl kfMIscl kn sRd, itzl rp tfOh
      rpUaQ zR kn tcl DD 
q) "ofUnf" alatl vfaQ TsP vfcPnvfacl sRd , itzl rp tfOh rpUaQ zR kn tcl DD 

01 

 PART ‘B’ 

tfOtlnna Tmpg 
 

 
 tdp ofUMsIUopcl  

05 dfcl klacl TmpgdcPcl hDaf kVPb 3×2=6 

 

i "rp MlO" rp altfOM rp tfOh vQnl tUhl tPOa oROU tcl? 02 

ii cfxfg , sQMfgcl dQbP vRnblb DD 02 

iii kfMscl MtM tR tRcl tzlhtl ngf LPMIbn vd? 02 

  



 

06 tdp sIUopcl mlgf vP 28 

i dVlTzR ebV qnPcl cfk -cfdcl dl tR- tR dpnf? 02 

ii tR tR nTzf TmRnQ xVlhl cfTzf? 02 

iii rlg TxpnnQ tdp sIUopclMl tR ald gP tfUgIzP yPa mfUnQ kVlxlsIUopclM tR ald? 02 

iv tfgzP yPa mfx mRhR slnRdlHM MlOTuR dp? rp mfx yfnzl vglM gpcldp? 03 

v Tspxp vQaf TvRtR hf? vfa vfa TxpnIaQ Tspxp tfgzP Ezfa td? 03 

vi xVfOxVlOhl tnP sInfOgpdcPnQg nP Tzfd? 03 

vii dVpcl sVRUsUyP vQkf dlU dpnf? rcl sITnRM nRUM vfanQ sVRUsVyP naQ zQ dVpnQ dpnf?  04 

viii nlzRM dVpTzRhl tnP rgIbVbPjnQg sVRUsVyP nbR alzl dVpnQ alcl? 04 

ix MRwlO tfObPaM xVROzQ zQOMtfO kVPb DD 05 

07 tdp xVlmfm 11 

i xVlmTzRnQ vfahl gul rt eROalcl gP rtl rcl dl tR yPcl? 02 

ii vPasRnRdcPtl vfa tlUMl vPntpd gP vfa tlUMl sTnROnItpd? 02 

iii ml tR bRnP klUMIzl kVUdp gP tR bRnP zPzl Hldp?  02 

iv TmRcl gfOz xVlmfmMl opdcl tR tR dp?  02 

v zlsIsldcl sVxR TzRdcPcl dl kVPb DD rp TzRdcP vfa vfa HRUM kMIbld? 03 

08 110-115 tfOhM TLRmItP ulMIdl nb:  
dopO rUsf MlO 
      cmlalTzP 
           EdPwlO DD 

1×5=5 

09 gaftl ngf HRcpHMtl Trpmf tlOcl zRcp EdPwlO Hlntpd alacl tatl xVROzQ nRkfdlUnQ tlOtR
cl MlTsP nclgf sVl TLRaf tfOkVl kVPb DD 

1×5=5 

10 tdp sIUopclM cgpjfb nb DD 
The Gurungs have their own language, which is a Sino-Tibetan-based language. Along 

with their native language, they also might speak Nepali. They mostly follow Buddhist 

lifestyle and culture. The Tamu Lhochhar is one of their major celebrations.

Which occurs in the month of December. Family and relatives gather to celebrate. 

They eat traditional foods and drink homemade alcohol. Cultural events are organized, 

and they attend Buddhist shrine celebrations and festivities. People can be seen 

wearing traditional attire to these events. 

1×5=5 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


